

University of New Mexico

# **Neutrosophic ideal of Subtraction Algebras**

Chul Hwan Park

School of Mechanical Engineering, Ulsan College, 57, Daehak-ro, Nam-gu, Ulsan 44610, Korea

E-mail: skyrosemary@gmail.com/chpark2@uc.ac.kr

**Abstract:** The notion of neutrosophic ideal in subtraction algebras is introduced, and several properties are investigated. Also we give conditions for a neutrosophic set to be a neutrosophic ideal. Characterization of neutorsophic ideal are discussed.

Keywords: Subtraction algebra, Neutrosophic set, Neutrosophic ideal

## **1** Introduction

The concept of Neutrosophic set, first introduced by Smarandache [17], is a powerful general formal framework that generalizes the concept of fuzzy set and intuitionistic fuzzy set. Recently, many researchers have been involved in extending the concepts and results of abstract algebra to the broader framework of the neutrosophic set theory[2, 3, 4, 5, 19]. Smarandache[17] and Wang et al.[18] introduced the concept of a single valued neutrosophic set as a subclass of the neutrosophic set and specified the definition of a neutrosophic set to make more applicable the theory to real life problems. In 1992, B. M. Schein have considered systems of the form  $(\Phi; \circ, \backslash)$  [16], where  $\Phi$  is a set of functions closed under the composition " $\circ$ " of functions (and hence  $(\Phi; \circ)$ is a function semigroup) and the set theoretic subtraction " $\backslash$ " (and hence  $(\Phi; \backslash)$ ) is a subtraction algebra in the sense of [1]). Jun et al. introduced the concept of ideal in subtraction algebras and continued studying on ideals in subtraction algebras[6, 8, 9, 14]. K. J. Lee and C. H. Park [11] introduced the concept of a fuzzy ideal in subtraction algebras and investigated some conditions for a fuzzy set to be a fuzzy ideal in subtraction algebras. Since then many reseachers worked in this area[7, 10, 12, 13].

In this paper, we apply the notion of neutrosophic sets in subtraction algebras. Also, we introduce the notion of neutrosophic ideal and give some conditions for a neutrosophic set to be a neutrosophic ideal in substraction algebras. Finally, we showed that neutrosophic image and neutrosophic inverse image of neutrosophic ideal are both neutrosophic ideal under certain conditions

## 2 Preliminaries

We review some definitions and properties that are necessary for this paper.

**Definition 2.1.** [1] An algebra (X, -) is called a subtraction algebra if a single binary operation – satisfies the following identities: for any  $x, y, z \in X$ ,

(SA1) x - (y - x) = x,

(SA2) x - (x - y) = y - (y - x),

(SA3) (x - y) - z = (x - z) - y,

We introduced an order relation X on a subtraction algebras:  $a \le b \Leftrightarrow a - b = 0$ , where 0 = a - a is an element that does not depend on the choice of  $a \in X$ .

**Proposition 2.2.** [9] Let (X, -) be a subtraction algebra. Then we have the following axioms:

- (SP1) (x y) y = x y,
- (SP2) x 0 = x and 0 x = 0,
- (SP3) (x y) x = 0,
- $(SP4) \ x (x y) \le y,$
- (SP5) (x y) (y x) = x y,
- (SP6) x (x (x y)) = x y,
- (SP7)  $(x y) (z y) \le x z$ ,
- (SP8)  $x \le y$  if and only if x = y w for some  $w \in X$ ,
- (SP9)  $x \le y$  implies  $x z \le y z$  and  $z y \le z x$  for all  $z \in X$ ,

(SP10)  $x, y \le z$  implies  $x - y = x \land (z - y)$ ,

(SP11)  $(x \land y) - (x \land z) \le x \land (y - z)$ , for all  $x, y, z \in X$ .

**Definition 2.3.** [9] A nonempty subset A of a subtraction algebra X is called an ideal of X, denoted by  $A \triangleleft X$ , if it satisfies:

(SI1)  $a - x \in A$  for all  $a \in A$  and  $x \in X$ ,

(SI2) for all  $a, b \in A$ , whenever  $a \lor b$  exists in X then  $a \lor b \in A$ .

**Proposition 2.4.** [9] Let X be a subtraction algebra and let  $x, y \in X$ . If  $w \in X$  is an upper bound for x and y, then the element

$$x \lor y := w - ((w - y) - x)$$

is a least upper bound for x and y.

**Definition 2.5.** [11] A fuzzy set  $\mu$  in X is called a fuzzy ideal of X if it satisfies:

(SFI1)  $\mu(x-y) \ge \mu(x)$ ,

(SFI2)  $\exists x \lor y \Rightarrow \mu(x \lor y) \ge \min\{\mu(x), \mu(y)\})$  for all  $x, y \in X$ .

We give some preliminaries about single valued neutrosophic sets and set operations, which will be called neutrosophic sets, for simplicity.

**Definition 2.6.** [18] Let X be a space of points (objects), with a generic element in X denoted by x. A single valued neutrosophic set A on X is characterized by truth-membership function  $t_A$ , indeterminacy-membership function  $i_A$  and falsity-membership function  $f_A$ . For each point x in  $X, t_A(x), i_A(x), f_A(x) \in [0, 1]$ . A neutrosophic set A can be written as denoted by a mapping defined as  $A : X \to [0, 1] \times [0, 1] \times [0, 1]$  and

$$A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$$

for simplicity.

**Definition 2.7.** [15, 18] Let A and B be two neutrosophic sets on X. Then

(1) A is contained in B, denoted as  $A \subseteq B$ , if and only if  $\mathcal{N}_A(x) \leq \mathcal{N}_B(x)$ . i.e.,  $t_A(x) \leq t_B(x)$ ,  $i_A(x) \leq i_B(x)$  and  $f_A(x) \geq f_B(x)$ . Two sets A and B is called equal, i.e., A = B iff  $A \subseteq B$  and  $B \subseteq A$ .

(2) the union of A and B is denoted by  $C = A \cup B$  and defined as  $\mathscr{N}_C(x) = \mathscr{N}_A(x) \lor \mathscr{N}_B(x)$  where  $\mathscr{N}_A(x) \lor \mathscr{N}_B(x) = (t_A(x) \lor t_B(x), i_A(x) \lor i_B(x), f_A(x) \land f_B(x))$ , for each  $x \in X$ . i.e.,  $t_C(x) = \max\{t_A(x), t_B(x)\}, i_C(x) = \max\{i_A(x), i_B(x)\}$  and  $f_C(x) = \min\{f_A(x), f_B(x)\}$ .

(3) the intersection of A and B is denoted by  $C = A \cap B$  and defined as  $\mathscr{N}_C(x) = \mathscr{N}_A(x) \wedge \mathscr{N}_B(x)$ where  $\mathscr{N}_A(x) \wedge \mathscr{N}_B(x) = (t_A(x) \wedge t_B(x), i_A(x) \wedge i_B(x), f_A(x) \vee f_B(x))$ , for each  $x \in X$ .i.e.,  $t_C(x) = \min\{t_A(x), t_B(x)\}, i_C(x) = \min\{i_A(x), i_B(x)\}$  and  $f_C(x) = \max\{f_A(x), f_B(x)\}$ .

(4) the complement of A is denoted by  $A^c$  and defined as  $\mathcal{N}_A^c(x) = (f_A(x), 1 - i_A(x), t_A(x))$ , for each  $x \in X$ .

**Definition 2.8.** [4] Let  $g : X_1 \to X_2$  be a function and A, B be the neutrosophic sets of  $X_1$  and  $X_2$ , respectively. Then the image of a neutrosophic set A is a neutrosophic set of  $X_2$  and it is defined as follows:  $\forall y \in X_2$ 

$$\begin{array}{lcl} g(A)(y) &=& (t_{g(A)}(y), i_{g(A)}(y), f_{g(A)}(y)) \\ &=& (g(t_A)(y), g(i_A)(y), g(f_A)(y)), \end{array}$$

where

$$g(t_A)(y) = \begin{cases} \bigvee t_A(x) & \text{if } x \in g^{-1}(y), \\ 0 & \text{otherwise,} \end{cases}$$
$$g(i_A)(y) = \begin{cases} \bigvee i_A(x) & \text{if } x \in g^{-1}(y), \\ 0 & \text{otherwise,} \end{cases}$$
$$g(f_A)(y) = \begin{cases} \bigwedge t_A(x) & \text{if } x \in g^{-1}(y), \\ 0 & \text{otherwise,} \end{cases}$$

And the preimage of a neutrosophic set B is a neutrosophic set of  $X_1$  and it is defined as follows:

$$g^{-1}(B)(x) = (t_{g^{-1}(B)}(x), i_{g^{-1}(B)}(x), f_{g^{-1}(B)}(x))$$
  
=  $(t_B(g(x)), i_B(g(x)), f_B(g(x)))$   
=  $B(g(x)), \forall x \in X_1.$ 

**Definition 2.9.** [4] Let  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  be a neutrosophic set on X and  $\alpha \in [0, 1]$ . Define the  $\alpha$ -level sets of A as follows:  $(t_A)_{\alpha} = \{x \in X \mid t_A(x) \geq \alpha\}, (i_A)_{\alpha} = \{x \in X \mid i_A(x) \geq \alpha\}$ , and  $(f_A)^{\alpha} = \{x \in X \mid f_A(x) \leq \alpha\}$ .

#### **3** Neutrosophic ideals

In what follows, let X be a subtraction algebra unless otherwise specified.

**Definition 3.1.** A neutrosophic set A of X is called a neutrosophic ideal of X if the following conditions are true:  $\forall x, y \in X$ ,

(SNI1)  $\mathcal{N}_A(x-y) \ge \mathcal{N}_A(x)$  i.e.,  $t_A(x-y) \ge t_A(x)$ ,  $i_A(x-y) \ge i_A(x)$  and  $f_A(x-y) \le f_A(x)$ ;

(SNI2)  $\exists x \lor y \Rightarrow \mathscr{N}_A(x \lor y) \ge \mathscr{N}_A(x) \land \mathscr{N}_A(y)$ , i.e.,  $t_A(x \lor y) \ge t_A(x) \land t_A(y)$ ,  $i_A(x \lor y) \ge i_A(x) \land i_A(y)$  and  $f_A(x \lor y) \le f_A(x) \lor f_A(y)$  whenever there exists  $x \lor y$ .

**Proposition 3.2.** If a neutrosophic set A of X satisfies

$$(\forall x, a, b \in X) \left( \mathcal{N}_A(x - ((x - a) - b)) \ge \mathcal{N}_A(a) \land \mathcal{N}_A(b) \right)$$
(3.1)

then A is a neutrosophic ideal of X.

*Proof.* Let  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  be a neutrosophic set of X that satisfies (3.1). By (SP2) and (SP3) we have (x - y) - (((x - y) - x) - x) = (x - y) - (0 - x) = (x - y) - 0 = x - y. From this we get

$$\begin{aligned} t_A(x-y) &= t_A((x-y) - (((x-y)-x)-x)) \ge t_A(x) \wedge t_A(x) = t_A(x), \\ i_A(x-y) &= i_A((x-y) - (((x-y)-x)-x)) \ge i_A(x) \wedge i_A(x) = i_A(x), \\ f_A(x-y) &= f_A((x-y) - (((x-y)-x)-x)) \le f_A(x) \vee f_A(x) = f_A(x). \end{aligned}$$

Now suppose  $x \lor y$  exists for  $x, y \in X$ . If we take  $w = x \lor y$ , we have  $x \lor y = w - ((w - x) - y)$  by Proposition 2.4. It follows from (3.1) that

$$t_A(x \lor y) = t_A(w - ((w - x) - y)) \ge t_A(x) \land t_A(y),$$
  

$$i_A(x \lor y) = i_A(w - ((w - x) - y)) \ge i_A(x) \land i_A(y),$$
  

$$f_A(x \lor y) = f_A(w - ((w - x) - y)) \le f_A(x) \lor f_A(y).$$

Hence A is a neutrosophic ideal of X.

**Proposition 3.3.** For every neutrosophic ideal A of X, we have the following inequality:

$$(\forall x \in X) \left( \mathscr{N}_A(0) \ge \mathscr{N}_A(x) \right). \tag{3.2}$$

*Proof.* Let  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  be a neutrosophic ideal of X. Putting y = x in (SNI1), then

$$t_A(0) = t_A(x - x) \ge t_A(x), i_A(0) = i_A(x - x) \ge i_A(x), f_A(0) = f_A(x - x) \le f_A(x).$$

Hence (3.2) is valid.

**Proposition 3.4.** Let A be a neutrosophic set of X such that

(SNI3)  $(\forall x \in X) \quad (\mathcal{N}_A(0) \ge \mathcal{N}_A(x)),$ 

Chul Hwan Park, Neutrosophic ideal of Subtraction Algebras.

(SNI4)  $(\forall x, y, z \in X)$   $(\mathscr{N}_A(x-z) \ge \mathscr{N}_A((x-y)-z) \land \mathscr{N}_A(y).)$ 

Then we have the following implication:

$$(\forall a, x \in X)(x \le a \Rightarrow \mathscr{N}_A(x) \ge \mathscr{N}_A(a)).$$
 (3.3)

*Proof.* Let  $a, x \in X$  be such that  $x \leq a$ . Then

$$\begin{aligned} t_A(x) &= t_A(x-0) \ge t_A((x-a)-0) \land t_A(a) = t_A(0) \land t_A(a) = t_A(a), \\ i_A(x) &= i_A(x-0) \ge i_A((x-a)-0) \land i_A(a) = i_A(0) \land i_A(a) = i_A(a), \\ f_A(x) &= f_A(x-0) \le f_A((x-a)-0) \lor f_A(a) = f_A(0) \lor f_A(a) = f_A(a). \end{aligned}$$

Hence  $\mathcal{N}_A(x) \geq \mathcal{N}_A(a)$ .

**Theorem 3.5.** If a neutrosophic set A in X satisfies (SNI3) and (SNI4), then A is a neutrosophic ideal of X.

*Proof.* Let A be an utrosophic in X satisfying (SNI3) and (SNI4), and let  $x, y \in X$ . Then  $x - y \le x$  by (SP3). It follows from Proposition 3.4 that

$$\mathcal{N}_A(x-y) \ge \mathcal{N}_A(x),$$

i.e., (SNI1) is valid. Also, we have

 $\mathcal{N}_A(x \lor y) \ge \mathcal{N}_A(x)$ 

whenever  $x \lor y$  exists in X by using Proposition 3.4 and so

$$\mathcal{N}_A(x \lor y) \ge \mathcal{N}_A(x) \land \mathcal{N}_A(y).$$

Thus (SNI2) is valid. Therefore  $\mathcal{N}_A$  is a neutrosophic ideal of X.

**Proposition 3.6.** A necessary and sufficient condition for a neutrosophic set A of X to be a neutrosophic ideal of X is that  $t_A$ ,  $i_A$  and  $1 - f_A$  are fuzzy ideals of X.

*Proof.* Assume that  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  is a neutrosophic ideal of X. For any  $x, y \in X$ , we have  $t_A(x-y) \ge t_A(x), i_A(x-y) \ge i_A(x)$  and  $f_A(x-y) \le f_A(x)$ . Thus

$$(1 - f_A)(x - y) \ge (1 - f_A(x)).$$

Now suppose  $x \lor y$  exists for  $x, y \in X$ . We have  $t_A(x \lor y) \ge t_A(x) \land , t_A(y), i_A(x \lor y) \ge i_A(x) \land i_A(y)$  and  $f_A(x \lor y) \le f_A(x) \lor f_A(y)$ . Thus

$$(1 - f_A)(x \lor y) \ge (1 - f_A(x)) \land (1 - f_A(y)).$$

Hence  $t_A$ ,  $i_A$  and  $1 - f_A$  are fuzzy ideal of X.

Conversely, assume that  $t_A$ ,  $i_A$  and  $1-f_A$  are fuzzy ideal of X and  $x, y \in R$ . Then  $t_A(x-y) \ge t_A(x)$ ,  $i_A(x-y) \ge i_A(x)$  and  $1-f_A(x-y) \ge (1-f_A(x))$ . Thus

$$f_A(x-y) = 1 - (1 - f_A(x-y)) \le 1 - (1 - f_A(x)) = f_A(x).$$

Chul Hwan Park, Neutrosophic ideal of Subtraction Algebras.

$$f_A(x \lor y) \le f_A(x) \lor f_A(y).$$

It follows that

$$\mathscr{N}_A(x \lor y) \ge \mathscr{N}_A(x) \land \mathscr{N}_A(y).$$

Hence A is a neutrosophic ideal of X.

**Theorem 3.7.** A is a neutrosophic ideal of X if and only if for all  $\alpha \in [0, 1]$ , the  $\alpha$ -level sets of A,  $(t_A)_{\alpha}, (i_A)_{\alpha}$  and  $(f_A)^{\alpha}$  are ideals of X.

*Proof.* Assume that  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  is a neutrosophic ideal of X. Let  $x \in X$ ,  $a \in (t_A)_{\alpha}, a \in (i_A)_{\alpha}$  and  $a \in (f_A)^{\alpha}$ . Then  $t_A(a) \ge \alpha, i_A(a) \ge \alpha$ , and  $f_A(a) \le \alpha$ . By Definition 3.1(SNI1), we have

$$t_A(a-x) \ge t_A(a) \ge \alpha, i_A(a-x) \ge i_A(a) \ge \alpha, f_A(a-x) \le f_A(a) \le \alpha.$$

Hence  $a - x \in (t_A)_{\alpha}$ ,  $a - x \in (t_A)_{\alpha}$  and  $a - x \in (t_A)_{\alpha}$ . Let  $a, b \in (t_A)_{\alpha}$   $a, b \in (i_A)_{\alpha}$  and  $a, b \in (f_A)^{\alpha}$  and assume that there exists  $a \lor b$ . Then  $t_A(a) \ge \alpha$  and  $t_A(b) \ge \alpha$ , which imply from Definition 3.1(SNI2) that

$$t_A(a \lor b) \ge t_A(a) \land t_A(b) \ge \alpha, i_A(a \lor b) \ge i_A(a) \land i_A(b) \ge \alpha, f_A(a \lor b) \le f_A(a) \lor f_A(b) \le \alpha.$$

and so that  $a \vee b \in (t_A)_{\alpha}, a \vee b \in (i_A)_{\alpha}$  and  $a \vee b \in (f_A)^{\alpha}$ . Therefore  $(t_A)_{\alpha}, (i_A)_{\alpha}$  and  $(f_A)^{\alpha}$  are ideals of X. Conversely, assume that  $t_A(x-y) < t_A(x)$  for some  $x, y \in X$ . Then

$$t_A(x-y) < \alpha < t_A(x)$$

for some  $\alpha \in (0, 1]$ . This implies that  $x \in (t_A)_{\alpha}$  but  $x - y \notin (t_A)_{\alpha}$ . This is contradiction. Therefore  $t_A(x-y) \ge t_A(x)$  for all  $x, y \in X$ . Similarly  $i_A(x-y) \ge i_A(x)$ . If  $f_A(x-y) > f_A(x)$  for all  $x, y \in X$ . Then

 $t_A(x-y) > \alpha > f_A(x)$ 

for some  $\alpha \in (0,1]$ . This implies that  $x \in (f_A)^{\alpha}$  but  $x - y \notin (f_A)^{\alpha}$ . This is contradiction. Therefore  $f_A(x-y) \leq f_A(x)$  for all  $x, y \in X$ . Suppose that  $x \vee y$  exists such that  $t_A(x \vee y) < t_A(x) \wedge t_A(y)$  for some  $x, y \in X$ , Then

$$t_A(x \lor y) < \alpha < t_A(x) \land t_A(y)$$

for some  $\alpha \in (0, 1]$ . It follows that  $x, y \in (t_A)_{\alpha}$  and  $x \lor y \notin (t_A)_{\alpha}$ . This is contradiction. Therefore  $t_A(x \lor y) \ge t_A(x) \land t_A(y)$  for all  $x, y \in X$ . Similarly  $i_A(x \lor y) \ge i_A(x) \land i_A(y)$ . If  $x \lor y$  exists such that  $f_A(x \lor y) > f_A(x) \land t_A(y)$  for some  $x, y \in X$ . Then

$$f_A(x \lor y) > \alpha > f_A(x) \lor f_A(y)$$

for some  $\alpha \in (0,1]$ . It follows that  $x, y \in (f_A)^{\alpha}$  and  $x \vee y \notin (f_A)^{\alpha}$ . This is contradiction. Therefore  $f_A(x \vee y) \leq f_A(x) \vee f_A(y)$  for all  $x, y \in X$ . Hence A is a neutrosophic ideal of X.  $\Box$ 

**Theorem 3.8.** Let A and B are neutrosophic ideals of X. Then  $A \cap B$  is a neutrosophic ideal of X.

Chul Hwan Park, Neutrosophic ideal of Subtraction Algebras.

*Proof.* Suppose that  $A = \{ \langle x, t_A(x), i_A(x), f_A(x) \rangle, x \in X \}$  and  $B = \{ \langle x, t_B(x), i_B(x), f_B(x) \rangle, x \in X \}$  are neutrosophic ideals of X and let  $x, y \in X$ . By Definition 3.1, we have

$$\begin{array}{lll} t_{A\cap B}(x-y) &=& t_A(x-y) \wedge t_B(x-y) \geq t_A(x) \wedge t_B(x) = t_{A\cap B}(x), \\ i_{A\cap B}(x-y) &=& i_A(x-y) \wedge i_B(x-y) \geq i_A(x) \wedge i_B(x) = i_{A\cap B}(x), \\ f_{A\cap B}(x-y) &=& f_A(x-y) \vee f_B(x-y) \leq f_A(x) \vee f_B(x) = f_{A\cap B}(x). \end{array}$$

Now suppose  $x \lor y$  exists for  $x, y \in X$ . By Definition 3.1, we have

$$t_{A\cap B}(x \lor y) = t_A(x \lor y) \land t_B(x \lor y)$$
  

$$\geq (t_A(x) \land t_A(y)) \land (t_B(x) \land t_B(y))$$
  

$$= (t_A(x) \land t_B(x)) \land (t_A(y) \land t_B(y))$$
  

$$= t_{A\cap B}(x) \land t_{A\cap B}(y).$$

Similarly we get  $i_{A \cap B}(x \lor y) \ge i_{A \cap B}(x) \land i_{A \cap B}(y)$ . Also we obtain

$$\begin{aligned} f_{A\cap B}(x \lor y) &= f_A(x \lor y) \lor f_B(x \lor y) \\ &\leq (f_A(x) \lor f_A(y)) \lor (f_B(x) \lor f_B(y)) \\ &= (f_A(x) \lor f_B(x)) \lor (f_A(y) \lor f_B(y)) \\ &= f_{A\cap B}(x) \lor f_{A\cap B}(y). \end{aligned}$$

Hence A is a neutrosophic ideal of X.

**Theorem 3.9.** Let A be a neutrosophic ideal of X. Then the set

$$K := \{ x \in X \mid \mathscr{N}_A(x) = \mathscr{N}_A(0) \}$$

is an ideal of X.

*Proof.* Let A be a neutrosophic ideal of X and  $a \in K$ . Then  $\mathcal{N}_A(a) = \mathcal{N}_A(0)$ . By (SNI1), we have

$$\mathcal{N}_A(a-x) \ge \mathcal{N}_A(a) = \mathcal{N}_A(0)$$

for  $x \in X$ . It follows from (3.2) that  $\mathcal{N}_A(a - x) = \mathcal{N}_A(0)$  so that  $a - x \in K$ . Let  $a, b \in K$  and assume that there exists  $a \lor b$ . By means of (SNI2), we know that

$$\mathcal{N}_A(a \lor b) \ge \min\{\mathcal{N}_A(a), \mathcal{N}_A(b)\} = \mathcal{N}_A(0).$$

Thus  $\mathcal{N}_A(a \lor b) = \mathcal{N}_A(0)$  by (3.2), and so  $a \lor b \in K$ . Therefore K is an ideal of X.

**Theorem 3.10.** Let  $g: X_1 \to X_2$  be a homomorphism. Then the image f(A) of a neutrosophic ideal A of  $X_1$  is a neutrosophic ideal of  $X_2$ .

*Proof.* For any  $y_1, y_2 \in f(X_1)$ , Consider the set

$$S = \{a_1 - a_2 \mid a_1 \in g^{-1}(y_1), a_2 \in g^{-1}(y_2)\}.$$

Chul Hwan Park, Neutrosophic ideal of Subtraction Algebras.

If  $x \in S$  then  $x = x_1 - x_2$  for  $x_1 \in g^{-1}(y_1)$  and  $x_2 \in g^{-1}(y_2)$  and so

$$f(x) = f(x_1 - x_2) = f(x_1) - f(x_2) = y_1 - y_2,$$

that is,  $x = x_1 - x_2 \in f^{-1}(y_1 - y_2)$ . It follows that

$$g(t_A)(y_1 - y_2) = \bigvee_{x \in f^{-1}(y_1 - y_2)} t_A(x) \ge t_A(x_1 - x_2) \ge t_A(x_1)$$
  

$$g(i_A)(y_1 - y_2) = \bigvee_{x \in f^{-1}(y_1 - y_2)} i_A(x) \ge i_A(x_1 - x_2) \ge i_A(x_1)$$
  

$$g(f_A)(y_1 - y_2) = \bigwedge_{x \in f^{-1}(y_1 - y_2)} f_A(x) \le f_A(x_1 - x_2) \le f_A(x_1).$$

Then

$$g(A)(y_1 - y_2) = (g(t_A)(y_1 - y_2), g(i_A)(y_1 - y_2), g(f_A)(y_1 - y_2)))$$
  
=  $(\bigvee_{x \in f^{-1}(y_1 - y_2)} t_A(x), \bigvee_{x \in f^{-1}(y_1 - y_2)} i_A(x), \bigwedge_{x \in f^{-1}(y_1 - y_2)} f_A(x))$   
 $\geq (t_A(x_1 - x_2), i_A(x_1 - x_2), f_A(x_1 - x_2))$   
 $\geq (t_A(x_1), i_A(x_1), f_A(x_1)).$ 

Cnsequently,

$$g(A)(y_1 - y_2) \geq (\bigvee_{x_1 \in f^{-1}(y_1)} t_A(x_1), \bigvee_{x_1 \in f^{-1}(y_1)} i_A(x_1), \bigwedge_{x_1 \in f^{-1}(y_1 - y_2)} f_A(x_1))$$
  
=  $(g(t_A)(y_1), g(i_A)(y_1), g(f_A)(y_1))$   
=  $g(A)(y_1).$ 

If  $y_1 \vee y_2$  exist for any  $y_1, y_2 \in f(X_1)$ . We first consider the set

$$T = \{a_1 \lor a_2 \mid a_1 \in g^{-1}(y_1), a_2 \in g^{-1}(y_2)\}.$$

If  $x \in T$  then  $x = x_1 \lor x_2$  for  $x_1 \in g^{-1}(y_1)$  and  $x_2 \in g^{-1}(y_2)$  and so

$$f(x) = f(x_1 \lor x_2) = f(x_1) \lor f(x_2) = y_1 \lor y_2,$$

that is,  $x = x_1 \lor x_2 \in f^{-1}(y_1 \lor y_2)$ . It follows that

$$g(t_A)(y_1 \lor y_2) = \bigvee_{x \in f^{-1}(y_1 \lor y_2)} t_A(x) \ge t_A(x_1 \lor x_2),$$
  

$$g(i_A)(y_1 \lor y_2) = \bigvee_{x \in f^{-1}(y_1 \lor y_2)} i_A(x) \ge i_A(x_1 \lor x_2),$$
  

$$g(f_A)(y_1 \lor y_2) = \bigwedge_{x \in f^{-1}(y_1 \lor y_2)} f_A(x) \le f_A(x_1 \lor x_2).$$

Then

$$g(A)(y_{1} \lor y_{2}) = (g(t_{A})(y_{1} \lor y_{2}), g(i_{A})(y_{1} \lor y_{2}), g(f_{A})(y_{1} \lor y_{2})))$$

$$= (\bigvee_{x \in f^{-1}(y_{1} \lor y_{2})} t_{A}(x), \bigvee_{x \in f^{-1}(y_{1} \lor y_{2})} i_{A}(x), \bigwedge_{x \in f^{-1}(y_{1} \lor y_{2})} f_{A}(x))$$

$$\geq (t_{A}(x_{1} \lor x_{2}), i_{A}(x_{1} \lor x_{2}), f_{A}(x_{1} \lor x_{2}))$$

$$\geq (t_{A}(x_{1}) \land t_{A}(x_{2}), i_{A}(x_{1}) \land i_{A}(x_{2}), f_{A}(x_{1}) \lor f_{A}(x_{2}))$$

$$= (t_{A}(x_{1}), i_{A}(x_{1}), f_{A}(x_{1})) \land (t_{A}(x_{2}), i_{A}(x_{2}), f_{A}(x_{2})).$$

Cnsequently,

$$g(A)(y_{1} - y_{2}) \geq (\bigvee_{x_{1} \in f^{-1}(y_{1})} t_{A}(x_{1}), \bigvee_{x_{1} \in f^{-1}(y_{1})} i_{A}(x_{1}), \bigwedge_{x_{1} \in f^{-1}(y_{1})} f_{A}(x_{1}))$$
  

$$\wedge (\bigvee_{x_{2} \in f^{-1}(y_{2})} t_{A}(x_{2}), \bigvee_{x_{2} \in f^{-1}(y_{2})} i_{A}(x_{2}) \bigwedge_{x_{2} \in f^{-1}(y_{2})} f_{A}(x_{1}))$$
  

$$= (g(t_{A})(y_{1}), g(i_{A})(y_{1}), g(f_{A})(y_{1})) \wedge (g(t_{A})(y_{2}), g(i_{A})(y_{2}), g(f_{A})(y_{2}))$$
  

$$= g(A)(y_{1}) \wedge g(A)(y_{2}).$$

Hence g(A) is a neutrosophic ideal of  $f(X_1)$ .

**Theorem 3.11.** Let  $g: X_1 \to X_2$  be a homomorphism. Then the preimage  $f^{-1}(B)$  of a neutrosophic ideal B of  $X_2$  is a neutrosophic ideal of  $X_1$ .

*Proof.* Let  $B = \{ \langle x, t_B(x), i_B(x), f_B(x) \rangle, x \in X_2 \}$  be a neutrosophic ideal of  $X_2$  and  $x, y \in X_1$ . Then

$$g^{-1}(B)(x-y) = (t_B(g(x-y)), i_B(g(x-y)), f_B(g(x-y)))$$
  
=  $(t_B(g(x) - g(y)), i_B(g(x) - g(y)), f_B(g(x) - g(y)))$   
 $\geq (t_B(g(x)), i_B(g(x)), f_B(g(x)))$   
=  $g^{-1}(B)(x).$ 

Now suppose  $x \lor y$  exists for  $x, y \in X_1$ . Then

$$g^{-1}(B)(x \lor y) = (t_B(g(x \lor y)), i_B(g(x \lor y)), f_B(g(x \lor y)))$$
  
=  $(t_B(g(x) \lor g(y)), i_B(g(x) \lor g(y)), f_B(g(x) \lor g(y)))$   
 $\geq t_B(g(x)) \land i_B(g(y)), i_B(g(x) \land i_B(g(y)), f_B(g(x) \lor f_B(g(y))))$   
=  $(t_B(g(x)), i_B(g(x)), f_B(g(x)) \land (t_B(g(y)), i_B(g(y)), f_B(g(y)))$   
=  $g^{-1}(B)(x) \land g^{-1}(B)(y)$ 

Hence  $g^{-1}(B)$ , is a neutrosophic ideal of  $X_1$ .

### 4 conclusions

F.Smarandache introduced the concept of neutrosophic sets, which can be seen as a new mathematical tool for dealing with uncertainty. In this paper, we apply the notion of neutrosophic sets in subtraction algebras.

Chul Hwan Park, Neutrosophic ideal of Subtraction Algebras.

Also, we introduce the notion of neutrosophic ideal and give some conditions for a neutrosophic set to be a neutrosophic ideal in substraction algebras. Finally, we showed that neutrosophic image and neutrosophic inverse image of neutrosophic ideal are both neutrosophic ideal under certain conditions Based on these results, we could apply neutrosophic sets to other types of ideals in subtraction algebra. Also, we believe that such a results applied for other algebraic structure.

#### References

- [1] J. C. Abbott, Sets, Lattices and Boolean Algebras, Allyn and Bacon, Boston 1969.
- [2] I.Arockiarani, I.R. Sumathi, and J. Martina Jency, Fuzzy neutrosophic soft topological spaces, International Journal of Mathematical Arhchive, 6(10) (2013), p225-238
- [3] R.A.Borzooei, H. Farahani, and M.Moniri, Neutrosophic deductive filters on BL-algebras, Journal of Intelligent and Fuzzy Systems, 26(6)(2014), p2993-3004
- [4] V.Çetkin, and H. Aygün, An approach to neutrosophic subgroup and its fundamental properties, Journal of Intelligent and Fuzzy Systems, 29(2015), p1941-1947
- [5] M.Shabir, M. Ali, M.Naz and F.Smarandache, Soft neutrosophic group, Neutrosophic Sets and Systems, 1(2013), p13-25
- [6] Y. B. Jun and K. H. Kim, Prime and irreducible ideals in subtraction algebras, Int. Math. Forum 3(10) (2008) 457462.
- [7] Y.B.Jun and C.H.Park, Vague ideal of subtraction algebras, International Mathematical Forum, 2(59)(2007), p2919 2926
- [8] Y. B. Jun and H. S. Kim, On ideals in subtraction algebras, Sci. Math. Jpn., 65 (2007), no. 1, 129–134,e2006, 1081–1086.
- [9] Y. B. Jun, H. S. Kim and E. H. Roh, Ideal theory of subtraction algebras, Sci. Math. Jpn. 61(3)(2005),p459-464
- [10] M.S.Kang, Answer to Lee and Park's questions, Communications of the Korean Mathematical Society.27(1)(2012),p1-6
- [11] K.J.Lee and C.H.Park, Some questions on fuzzifications of ideals in subtraction algebras, Commun.Korean Math.Soc.22(3) (2007), 359363.
- [12] C.H.Park, Double-framed soft deductive system of subtraction algebras, International Journal of Fuzzy logic and Intelligent Systems, 18(3)(2018), p214219
- [13] D. R. Prince Williams Arsham Borumand Saeid, Fuzzy soft ideals in subtraction algebras Neural Computing and Applications, 21(1)(2012), pp 159169
- [14] E. H. Roh, K. H. Kim and J. G. Lee, On prime and semiprime ideals in subtraction semigroups, Sci. Math. Jpn. 61(2) (2005) 259266
- [15] A.A.Salama and S.A. Al-Blowi, Neutrosophic set and neutrosophic topological spaces, IOSR Journal of Math. 3(4)(2012),p31-35
- [16] B. M. Schein, Difference Semigroups, Comm. in Algebra, 20 (1992), p2153–2169.
- [17] F.Smarandache, Neutrosophic Probability, Set and Logic, Rehoboth American Research Press (1998) http://fs.gallup.unm.edu/eBook-neutrosophics6.pdf (last edition online)
- [18] H.Wang,F. Smarandache, Y. Zhang, and R. Sunderraman, Single valued neutrosophic sets, Multisspace and Multistructure 4(2010) p 410-413
- [19] X. Zhang, Y. Ma and F. Smarandache, Neutrosophic Regular Filters and Fuzzy Regular Filters in Pseudo-BCI Algebras, Neutrosophic Sets and Systems, 17(2017), p10-15

Received: January 1, 2019.

Accepted: February 28, 2019.